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QUESTION 1

You are responding to a proposal request from an enterprise with multiple branch offices. All branch offices connect to a
single SRX device at a centralized location. The request requires each office to be segregated on the central SRX
device with separate IP networks and security considerations. No single office should be able to starve the CPU from
other branch offices on the central SRX device due to the number of flow sessions. However, connectivity between
offices must be maintained. Which three features are required to accomplish this goal? (Choose three.)

A. Logical Systems

B. Interconnect Logical System

C. Virtual Tunnel Interface

D. Logical Tunnel Interface

E. Virtual Routing Instance

Correct Answer: ABD

QUESTION 2

Which configuration statement would allow the SRX Series device to match a signature only on the first match, and not
subsequent signature matches in a connection?

A. user@host# set security idp idp-policy test rulebase-ips rule 1 then action recommended

B. user@host# set security idp idp-policy test rulebase-ips rule 1 then action ignore-connection
C. user@host# set security idp idp-policy test rulebase-ips rule 1 then action no-action

D. user@host# set security idp idp-policy test rulebase-ips rule 1 then action drop-connection

Correct Answer: B

QUESTION 3

Click the Exhibit button

[edit security] user@host# show policies global {

policy new-policy {

match { source-address any; destination-address any; application junos-https;
} then { permit { application-services { application-firewall {

rule-set appfw; } }}} } }

[edit security]
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user@host# show application-firewall
rule-sets appfw {

rule 1 {

match {

dynamic-application junos:SSL;

}

then {

permit;

}

}

rule 2 {

match {

dynamic-application junos:HTTP;
}

then {

reject;

}

}

default-rule {

permit; } }

Referring to the exhibit, which two statements are correct? (Choose two.)
A. HTTP traffic is permitted.

B. HTTP traffic is dropped.

C. HTTPS traffic is permitted.

D. HTTPS traffic is dropped.

Correct Answer: BC

QUESTION 4

You are asked to deploy a group VPN between various sites associated with your company. The gateway devices at the
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remote locations are SRX240 devices. Which two statements about the new deployment are true? (Choose two.)
A. The networks at the various sites must use NAT.

B. The participating endpoints in the group VPN can belong to a chassis cluster.

C. The networks at the various sites cannot use NAT.

D. The participating endpoints in the group VPN cannot be part of a chassis cluster.

Correct Answer: CD

QUESTION 5

Click the Exhibit button.

Referring to the exhibit, you must send traffic from Host-1 to Host-2. These two hosts can only
communicate with IPv4.

Which feature would you use to permit communication between Host-1 and Host-2?

Exhibit:

A. 6rd

B. DS-Lite
C. NAT46

D. NAT444

Correct Answer: B
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